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  Matrices 1  

 

 Question 1 

Work out 

(a) 









 53

24









1

7
 

(b) 









50

05













4

3
 

(c) 
2 













36

25
 

(d) 









10

01









 2

3
 

(e) 
6 













31

74
 

(f) 









24

48









6

3
 

(12 marks) 

 

 Question 2 

 Work out 

(a) 







 

31

12









 41

30
 

(b) 













51

23









43

42
 

(c) 









57

23













37

25
 

(d) 







 

89

710









 32

42
 

(e) 













53

21









41

32
 

(f) 









41

32













53

21
 

(12 marks) 

 

 Question 3 (non-calculator) 

 Work out, giving your answers as simply as possible. 

(a) 















 231

12














 223

02
 

(b) 




















5

1

2

3

2

1























3

42

2

1
 

(c) 2

57

23








 

(d) 













 

332

433














 04

13
 

(e) 



















4

1

3

2

2

1

3

1

















41

32

 

(f) 2

37

22













 

(17 marks) 
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 Question 4 

 Work out, giving your answers as simply as possible. 

(a) 













10

01









1p

p
 

(b) 









30

03









y

x
 

(c) 









01

10









m

m

2
 

(d) 









20

02









a

a

0

0
 

(e) 









t

t

40

04









30

03
 

(f) 













10

01









10

01









 2

3
 

(13 marks) 

 

 Question 5 

 Work out, giving your answers as simply as possible. 

(a) 













x

x

45

32









 03

3xx
 

(b) 









 12

3aa









 1110

87
 

(c) 2

1

0









x

x
 

(d) 









 x

yy

3 








10

32 y
 

(e) 













12

1

aa

aa













12

1

aa

aa
 

(f) 2

19

33













x

x
 

(14 marks) 

 


